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Rules for Mechaniss, Band—Add ance the thickness of the iron1
- diameter of the hoop,and multiply by 22 ;-
by 7 gives the length.
o find the size of Nuts for Bolts—
' parts, are, nevertheless, correct enough for all ] T!djb"t l.”’ thzed'fi\m {th b :t' 'bn
: should be twice the diameter ot the boltin br
practical purposes. They were compiled by a ce heter

L 1 and once the diameter in thickness.

writer in one of our exchanges.—Far, § Mech. T tone for buildi Ml
¥ N /] ety &fone jJor Luuiding—yu
To jind the area of « Triangle—Muliiply the \ }"'b ’rc ‘;"] | lt “" A }!}p
. . lengt ' the widih that by the thi
base by the perpendicniar height, and take half ‘M50 DY 1he Widih, anc hat by b
. and divide by 2473, which gives the p
the produce for the aren, it
ind the area of a Circle—Multiply half " . .
| T”_f eronce b {nlt'the diameter pn)l'ul the Tu measure Stone in a TWell—XMeasur
he citcumference by . . "
: elc e -;» be the irp; ’ swell in the clear, and add the thickress
twi ie area. i . . C s )
prad .1(:' M . twall, then find cirewinference, which is the
To sind the civenmwference of a Circle from the' .. o

: .. . N . tof the wail, aud divide by €4.75:
diameter—Multip'y the diameter by 322 and di- Lo . .

ide by 7—or 10 be more exact, multiply the To measure Grain in a Bin—Muhip

e T—or 2N ! . .
vie y ' e . ‘length of the bin by the width, and that
the diameter by the shortest 5 then multiply the L . . .

4 . 1'1; decimal 7254 depth ; this gives the cabical feet in a bush

1C1§ ay Qe H Dk, . . \ )
products sy ) o To measure Corn in a Crib.—Mulip
To find the contents of n Pyrunml.n‘r Cone length and breadih of the house togather, a
—Find the area of the base, (:"d maltiply that by the depth, which will give the cub ¢ #
N ien! 1 b H . . . .|

aren by the pr ’l"’"‘h‘"*?-" height, and ke one iy e Jag product by 12 which will g

i { rodduet for the contents. ‘ . —_—
third of the product {or the contents . . barrels of chelled corn in the erib, 5 bush
To find so'ility of a Sphere or Flobe—Multi- barrel

-~ > LV 2t .

e by ame W] take-one- . . .
ply the swface by 1-h» «;nm ter, ,m d take To jind the cubic feetin a Grindsto
i acs LD s, . ey
sixth of the prodac: lor the conten hie whole diameter add half said diamet
”~ h { ’- . AH .

To jind the wright of Wrought-Tron~Tind  pyuiuply by the same half, and 1his prod
the nut’ er of cubic rackes m the picce,and vl | pe thickness. and divide by 1723, the nu
tiply by 2816, tire werzht of one cubic inch; the | conie inches in a foot.
product is the waght in pounds. To find the cubic measure of hewn

i 1 . « n

To find the wersht of Cust-Iron-~Find as —Mualtiply the hreadil in inches, and that

above and muhiply by .2607. thickness i inches, and that by the length
" SR .

To fne the weizit of Copper—Find as above | Nore —Square measare has 144 inche
wid multiply by 32113; product is weight in}<quare foor, cubic measure has 1728 inche
pounds. y cubical loor.

Yo find the weight of Lead—Find ae above, 7, jind the number of gellons in a ci
and muitipiy by 51015 ; product is weight I yeservoir—Find the number of cubical f
poands.. ‘ - multiply by 73.for the gallons.

Yo find th weight of Lrass—Find the number{ A cubic foot of water weighs 62-5 Ibs.
of euthic inches, mudiply by 3112; product s the | aee 2230 cubic inches in a gallon of ‘eater.
wetzht in pounds. —

To find the strength in Rupea—Nehtipiy thel  Myroccq Dressing in Broollyn.—Thke
square of the circumlereitee in inches-by 60 5 it} anys: « There wasa time, and that not v

will give the weight tie rovz will bear tn pounds. | past, when French Moraceo, &0 indispen

o find: the strenzth of Callea— Yultiply the { well as becoming for Jadies’ wear, conld
square of 1he circumfercnes in anches by 190,.the | had by fmportarion,  New, however;

- mrodnct s the weight the cable will bear inlto maiive enterprize—if not weritable
Morocco, that at least which is- dressed #

© poands,
L o find the streagth of a Chmin—As many 3 { same fashion, and with all the beaumy 2
of ihe best foreian ariele, is furnished ab

: of an iuch ag the chiain is in diameter, take 3 of
L this sum and muinply &y the other haif; the pro- j at our ewn door.  An establishment of !
and the largest in our vicinity, if notint

duet is the weleat in tons it will bear.
Ta find the leacth of iron to forma Hbep or!try, ieohar of.Mesers, GChambers & Bur

The following convenient rules for Mechaneis
* and others,although nat perfect in their fractiona)
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